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All questions carry equal marks.
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1. S99 TEREIE e H 9™ Ru e e | 8l iR | 9w gias & S g W
T forga

Write your Roll Number only in the box provided alongside. Do not write anything else on the Test
Booklet.

2. @ gRa®HT T 100 He ¥ | NAF WsT 3 oo 3g OR Reed Ru T ¥ S99 w6
qél /31 ITX & g |

This Test Booklet contains 100 questions. Each question comprises four responses (answers).
Choose only one right answer.

3. orwefl gda gRAE! @A TE® T B UEH B Sg g &Y B Ru g owd § @
B S I oI e W ) 3¥ i TR B 9w oot 3 awsge d

P ST A A I B P @ @ ave @ s a5 o) Prafiie saweer §
NI 'C' W g9 ¥ A e e R

After the candidate has read each item in the Test Booklet and decided which of the given options is
correct or the best, he has to mark the circle containing the letter of the selected response by
blackening it completely with Black or Blue ball pen. In the following example, response 'C' is s¢

marked :
A B C D
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1. ‘Reg =< Ray
g7 o o 6. “GEH B GHMEF Iz 2
(A) 10 B (A) &
(B) 10 A/ (B) €I
D) F=
(D) 10 e ®)
R I 7. FHAHR H qEEErE 8 -
| . i 8 2 (A) TSI (B) TThST
(5 SiE OREED (D) TSTHA
(B) AT A
(©) T & 8 E:ﬂ‘ Wf;ﬂ;? e
() Form A GREY!
(B) AgEyT AH
3. “fiar de-wE gEga W OB A (€) T wE
He-HE T (D) sgsife FHH
. AT o, ‘Yz A HE oW FR H BA-H
(B) far<rereT R B TATT & 7
(C) TeBam ©(A) BT FRD
(D) PIh (B) HH®IH
4 g + e F B4 AR 7 (C) SUTET HITh
(A) & afe | (D) et I
(B) T |l 10. ‘@ B U GEELD qE T -
(C)‘ g afg (A) drod (B) T&d
C D) 9&9d
(D) FoT Al (C) aod (D)
5. ‘g Q@ add & ¢ 1. ‘s @ faemrdt o= B
| e | (A) B (B) TaT
(A) ATHoT & T g ) T
(B) ST HrET
(C) TarHE Y ERT e 9 12, ‘O’ U ATl 9R 8
B (A) T (B) FSWA
(0) &7 & Frg T . (©) sty (D) TR
P.T.0.
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13.

14,

15.

16.

17.

18.

S @ R R
(A) §H (B) aToerar
(©) TR (D) |

9&t S TE RRE W A g

(A) SR Hepa

(B) Ak wp

(C) Tt

(D) mTRd

‘g gHEr erd wmiew B OH
YT FT B ?

(A) &= (B) ferar

(C) miagrgor (D) faQrser

‘ A 37T X BT &7 aref
BT -

(A) ST arisTeg &7 S79E ST
(B) BIET-I2T BIFT

(C) A« YT de

(D) & &

& IR B

(A) T& STECH T &H g9 ¢ |

(B) ¥ oTHW! M T Y 2 |

(C) I8 M &I ‘STHAI”. T © |

(D) T& T & TG T T |
FI-HT 9T YT 8], X hiI

W oaH - # [pE aRadw @
Iwg g 7

(A) a1 T Y
(B) wEr 3T Fie &
WIE X udd @
e T A & =t gy

19.

20.

21.

20

23.

24.

25.
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STeTSeE GHTE T SaeTel &

A BrEE (B) WUT
(C) T (D) HET
‘A’ e BIA-AT B 7

(A) Ssvacdt (B) ISl
(C) IsuracT (D) Sg¥ct
:% H T & g SugET 9=
(A)- HEIEN| (B) STATTH
(C) Fsa (D) HIgoTET
el &1 afy faRe 2 -

(A) 78 + FY

(B) HETH + Y

(C) H8T + Hy

(D) A% + =[N

I AT ST B | BXg AT
HH H&e "1 § s B

(A) T (B) |1
(C) e (D) raT

TdoT F€1 gdY e - CECSIIE S
(A) gfaLigor

GREZ

(C) frare o
(D) TIAH

‘s e B

(A) T+ 9
(C) 5T + 4

(B) T+ g
O) I + =5
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ENGLISH
26. Choose the right sentence : 33. This lessonis ............. difficult.
(A) Kalidas is the Shakespeare of India. (A) t (B) very
. _ 00
(B) The Kalidas is Shakespeare of India.
(C) The Kalidas is the Shakespeare of (C) the little (D) much
India. 2 i X
: : 34. 'A word or law no longer in use' is called :
(D) Kalidas is the Shakespeare of the
India. (A) cynic (B) out-dated
27. 'We reached safe and sound.' Which part (C) reticent ((Fotsokte
of speech 'sound' is ? 35. | love my books so much so that | cannot
(A) Noun (B) Adverb part ........... them.
(C) Adjective (D) None of these .
(A) from (B) with
28. Chogs.ea the correct gender of Fox (©) by (D) without
(feminine) : '
(A) Ox (B) Vixen 36. Choose the word that is spelt correctly
(C) Wasp (D) Boar from the given alternatives :
29, Young one of 'sheep': (A) Deceive (B) Decieve
(A) Cub (B) Lamb N e B
(©) Calf (D) Foal (C) Diceive (D) Dicieive
Direction : (Q. No. 30 & 31) : In the following 37. Choose the correct article from the given
questions choose the alternative which best alternatives :
[ f the given word :
expresses the meaningeg g1 g ] - e— one-eyed person.
30. Vocation (A) an
(A) Holiday (B) Break-up 5
(C) Occupation (D) Virtue (B) a
) (C) the
31. Imperious
(A) Proud (B) Temper (D) None of these
C) Tampe D) Distant
fel Tampal (®) 38. Choose the correct synonym of 'Audacity” :
Direction : (Q. No. 32 to 35) : Choose the L
correct determiner from the given option (A Alenpess (B) Timidsy
(C) Humility (D) Boldness
32. 'She will have been served food' is in
(A) Past perfect tense 39. Choose the correct antonym of '‘Malice' .
(B) Future perfect continuous tense (A) Goodwill (B) H-Will
(C) Future indefinite tense _
(D) Future perfect tense (C) Spite () Fnta

P .0
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Direction : (Q. No. 40 & 41) : Choose the
correct option of indirect form of speech :

40. The teacher said to the students, "Let us
start a new lesson."

(A) The teacher asked the students to
start a new lesson.

(B) The teacher suggested to the
students to start a new lesson.

(C) The teacher suggested to the
students that he should start a new
lesson.

(D) The teacher suggested to the

students that they should start a new
lesson.

41. He said to his teacher, "Good night, sir."
ot A

(A) He wished his teacher good night sir»

(B) He respectfully wished his teacher

good night.

(C) He respectfully bids his teacher good
night.

(D) He respectfully bade his teacher
good night.

Direction : (Q. No. 42 to 47) : Choose the
correct synonyms for the underlined words from
the given alternatives :

42, PROHIBIT:
(A) Allow (B) Grant
(C) Ban (D) Sanction
43. REGRET:
(A) Happy (B) Bloom
(C) Reproduce . (D) Repent

2019

TP e~

44,

45.

46.

47.

GETIT ON
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WHIMSICAL :
(A) Amusing (B) Sad
(C) Sorrow (D) Mad
INTERMITTENT :

(A) Intermingle

(C) Periodic

(B) Indifferent
(D) Transmit

- OBSTINATE :

(A) Absolute
(C) Obsolete

(B) Stubborn
(D) Old fashioned

CARDINAL :
(A) Chief (B) Cardiac
(C) Correct (D) Formal

Direction : (Q. No. 48 to 50) : Choose the most
appropriate option from the given alternatives to
fillin the blanks :

48.

49,

50.

He deals .......... stationery.
(A) with (B) at
(C) on (D) in

The tiger was killed ......... the hunter.

He is weak

(A) at
(B) in
(€)
(D)

...... chemistry.

C
D

with

into
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MATHEMATICS
IL I
0,40 =7
51, 2°x3 x4° = 51. 20x30x40 -9
2
A 1 (B) 24 (A) 1 (B) 24
()0 (D) gﬂﬁ Sl Eﬁé et (C) 0 (D) None of these
1.9 o1 1 5 51
. B+——tt + I A B : 52. 5 .
52 100 1000 10000 . The value of 5+ 100+ 1000+ 10000 IS -
(A) 5.1551 (B) 5.0151 (A) 5.1551 (B) 5.0151
(C) 5.0201 (D) 5.01201 (C) 5.0201 (D) 5.01201
53. afx & AT TH TEASH H arT 53. If the sum of two consecutive even
66 %, qr Bl 99 9&r © ¢ numbers is 66, then the smaller one is:
(A) 34 (B) 32 (A) 34 (B) 32
(C) 42 (D) 24 (C) 42 (D) 24
54. wF e B Ia F 10% Fhe Bl 54. A man got 10% increase in his salary. If
S afe Ig®r =997 Jad o 1,54,000 . his new salary is Rs. 1,54,000, then
T, O IR g daA g original salary is :
(A) o 1,50,000 (A) Rs. 1,50,000
(B) ©o 1,60,000 (B) Rs. 1,60,000
(C) To 1,40,000 (C) Rs. 1,40,000
(D) o 1,45,000 (D) Rs. 1,45,000
55. o8 TEQ B dEdr s dIeg S 55. Find the smallest square number which is
4, 0 AT 10 TIH fgaifora &t exactly divisible by 4, 9 and 10
HT .
(A) 900 (B) 400 (A) 900 (B) 400
(C) 490 (D) 360 (C) 490 (D) 360
s6. S WA 1 oTHdH, e B " 56. If the radius of a sphere is %q,then its
%g ®, BRT : volume is :
32 3 23 .3
32 —nd it
(A) 2 nd® (B) E?_nda A) 81"t (B) 4 nd
81 4
' _3_2_ 3 34 3
© g o) 2740 €) —zd () = nd
3 3
2019 P.T.Q
e —
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57.

58.

59.

60.

61.

62.

(

andn

2§ W afiere § fafgw

(A) 35%
(C) 3.5%

(B) 350%
(D) 0.35%
T B g Fr A ey

gﬁ%nsa&‘r%ﬁ:ﬂqﬁa

B ARG efﬁl‘él:ﬁﬁ
amaﬁﬁm%ﬁ

(A) 10 99, 12 ¢
B) 5 a4, 10 g¥

il
ERl
L

)
D)12€rST 24 T

A 567567567 H1 567 T WRT &=
S, & \FThS BN -

(A) 111
(C) 1001001

(B) 10101
(D) 301

Teh IEET 3750 Rhowo @ gl 25
goe F a9 HC 8, A TH Hoe F
M B AT T g e
grfY ?

(A) 140 fpotio
(C) 150 FroHlo
127 W s
2 216 i

-7
6
(A) 7

(B) 175 fehoHio
(D) 130 fHoHio

1
{—
C) 5

57.

58.

59.

' 60.

61.

62.

GETITON
» Google Play
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. :
Write 25 in percent :
(A) 35% (B) 350%
(C) 3.5% (D) 0.35%

Arjun'is twice a old as Shreya. Five years
ago his age was three times Shreya's
age. Find their present ages :

(A) 10 years, 12 years
(B) 5 years, 10 years

(C) 15 years, 30 years
(D) 12 years, 24 years

-N+—=7
L ¥ 13
—147 -13
A —— B) —
(A) 13 (B) 3
14 -7 13
DG oo ) g

If 567567567 is divided by 567, then the
quotient will be :

(A) 111
(C) 1001001

(B) 10101
(D) 301
A train cover a distance of 3750 km in 25

hours, how much -average distance the
same train will cover in one hour ?

(A) 140 km (B) 175 km

(C) 150 km (D) 130 km

The cube root of 1% is :

w 2 ® =L

(C) 1_16 (D) None of these

Page- 7
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63.

64.

65.

66.

67.

68.

2019

o 1000 9T 10% aiifes & A2
qiel bl ﬂ‘;‘i';ti";;‘;i‘ e R

(C) 0 200 (D) Fo 190

5\3qu r°)x(-4p°q r?)x (7pg®r) axTER

g
(A) 84 pBqtS
(B) 84p®q5rS
(C) -84p5q®/"
(D) -84 p°qSr®
042 + 0.042 + 0.0042 - 0.00042
qeT B
(A) 0.42424

(B) 0.46578

(C) 0.42654 (D) 0.42528

U T W STEE 5000 B St 29

B W A medl ¥ o9 af
e TR STEmEr By ?

(A) 5108
(C) 5202

(B) 5200
(D) 5300

I g 5 AR 132 Yoo A,
IH I BT SFBA T BN 7P

(A) 1386 o WoHlo
(B) 1386 ToHio

(C) 1486 T Fowlo
(D) 1320 & Forlo

4, 6, 12, 15

(EFfoHoao) =7
(A) 180 (B) 60
(C) 72 (D) 120

63,

. 64,

65.

67.

68.

[ g GETITON
'\ Google Play

D

The compound interest on Rs. 1000 at
10% per annum for 2 years is -

(A) Rs. 1210

(C) Rs. 200

(B) Rs. 210
(D) Rs. 190

(3p%q r®)x(-4p°q r*)x(7pgr) s
equal to :

(A) 84p°q°r®

(8) 84p°q°r®

(C) -84p°q°r®

(D) -84p°q°r°

The sum of 0.42 + 0.042 + 0.0042 —
0.00042 is :

(A) 0.42424

(C) 0.42654

(B) 0.46578
(D) 0.42528

The population of a village is 5000 and it
increases at the rate 2% every year. After
2 years the population will be :

(A) 5108
(C) 5202

(B) 5200
(D) 5300

If the circumference of a circle is 132 cm,
the area of circle is :

(A) 1386 cm?
(B) 1386 cm
(C) 1486 cm?

(D) 1320 cm?

LCM. of4,6,12,15=2

(A) 180
(C) 72

(B) 60
(D) 120

P.
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%
7]

70.

7.

72.

73.

74.

75.

2019

SIROUH 240 Mo wpll Y e
TR H 18 APer ¥ gr e Al 2,
T IH WS A g )

(A) 36 o /90 (B) 54 Rrfio /Ho
(C) 60 Hlos/de (D) 72 RFfio /Ho

T 56-45+x =17, & x=2

(A) 38 (B) 25

(C) 18 D) 9

SJERT 2, 5, 11, 20, 32, 47, ... , 86 H
I §&=11 s Fl

(A) 80 (B) 65

(C) 58 (D) 62

fFdl dagdm 9ew B o &
IR 44 Foilio T IR T SuE
15 HoHlo ¥\ Ae9 = FEad

(Fowio® H) 8 (11:22—72 SUBSEE

(A) 770 (B) 1155
(C) 1540 (D) 2310
(-1)'°% = A B -

(A) -1 (B) 1

(C) 1000 (D) -1000

Hed UTEk HIX H To 8000 "ﬁ
Tear & SR TP 99 9| 25%
g 97 99 3aT 81 &K & faha

qeg S i

(A) Bo 7000 (B) To 6000
(C) o 10000 (D) S0 9000
(5=

4 3

(A) 1 (B) 0

(C) 14 (D) -1

69.

70.

71.

72.

73.

74.

75.

[ GETITON
'\ Google Play
10

If a train 240 m long passes a po!e .in 16
seconds, then the speed of the train is .

(B) 54 km/h
(D) 72 km/h

(A) 36 km/h
(C) 60 km/h

If 56 —45++/x =17, thenx=7?

(A) 36 (B) 25

(C) 16 (D) 9

Find the missing number in the series
2,5,11,20,32,47, ........ , 86

(A) 60 (B) 65

(C) 58 (D) 62

Circumference of the base of a right
circular cylinder is 44 cm and its height is
15 cm. The volume (in cm® of the

cylinder is (Taken = 2—72) 2
(A) 770 (B) 1155
(C) 1540 (D) 2310

The value of (—1)'%% js .
(A) -1 (B) 1

(C) 1000 (D) —1000

Mohan purchased a car for Rs. 8000 and
sold it after one year at a loss of a 25%.
Find the selling price of car:

(A) Rs. 7000

(B) Rs. 6000
(C) Rs. 10000 (D) Rs. 9000
GECR

4) "\3

(A) 1 (B) 0

(C) 14 (D) -1
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f GENERAL KNow gpce
: - o
T "
p “f‘gq &1 e g 76. The main cause of Earthquake 155
ﬁ-(A) — (B) IERICES! (A) Erosion (B) Denudation
(C) fcit~eh & (D) STIEAT (C) Tectonic forces (D) Weathering
7. O B FME 7 77. Whatis dry ice ?
(A) Eﬁ'{i{ SRS (A) Solid Oxygen
(B) S8 ATEEIoT (B) Solid Nitrogen. '
(C) o T TESAFIES (C) Solid Carbon dioxid®
(D) BTF T (D) Solid Sulphur
78, XA H qEd UgH ESNISIIEEREI 78. When was the first train started in India ?
?
i\[) .16 T, 1853 (A) 16 Apri, 1853
: : > (B) 16 April, 1852
(B) 16 3T, 1852 @ 26 May, 1651
(C) 26 g, 1851 o) 26 May, 1850
(D) 26 3, 1850 | .
3 7 79. What is the source of Sun Energy *
0. AT A @H D (A) Nuclear fusion
A :{ﬁ%{a‘ﬂ: e (B) Nuclear fission
(B) 2 =Y (C) Chemical reaction
(C)) B HZWT (D) All of the above
(D ,
i is identified by the
o té‘:{ zg gﬁ?ﬂ%m@ﬁag gf-‘«;ﬂ:’f - Y:glc:n;eit:)rv?/n()fn::?s ;nade on theyfood
packets ?
(A) STERTRT (A) Vegetarian
(B) HIATETA (B) Non-Vegetarian
(C) emeRErr ST AFAERT (C) Vegetarian & Non-Vegetarian
(D) 38 § P13 7ol (D) None of these
81. Sl ved oI [agd qREISH 81. Shongtong Karcham Hydro Power Project
e qﬁ T Rerd 2 ?_ is located on which river ?
‘2) :1? ‘s; ;”; (A) Sutlej (B) Ganga
1 Y | (C) Chenab (D) Ravi

P.T.O.
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82. TRt wRe1 o ey EEIIBCIEARES
A 5 R i 2 -

A) Rrox
(B) feremage
(C) 7o
(D) =1
83. 5939%*“‘?8@@%%2%,
[
(A) =pisft H (B) gay g
© I Rie D) Ao Frey
84. ‘iR
b T T AR o
(A) =g (B) iy
©ragy (D) Tt
85. oY Hfex PHET T 7
(A) W (B) ERTET
(C) =y (D) Ty
86. fevre wRyr @y IRICISE I
AT FHy gg ?

(A) 15 aT8<, 1948
(B) 01 Fer=ix, 1966
(C) 15 oTreT, 1947
(D) 26 ST=ay, 1971

87. AT uHsH  oifw e
R e (NAARM) feerg & 2

(A) 98 Rl §  (B) daxEr &

(C) AFTYY H (D) e H
88. &YX w1 RHAFT FHY wea § 7

(A) I (B) T

C) @.d.g. (D) Wex A

2019
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82-

the largest natural lake located in ?
(A) Sirmaur
(B) Bilaspur
(C) Mandi
(D) Chamba
83. Who was the leader of Dhami Movement
in 1939 ?
(A) Kanshi Ram
(C) Sher Singh

(B) Padam Dev

(D) Bhagmal Sautha
84. 'KALINDI' is the vedic name of which
river : .
(A) Vyas
(C) Yamuna

(B) Rauvi

(D) Sutlej

85. Where Bhootnath temple is situateq 2
(A) Bhunter
(C) Mandi

(B) Sarahan
(D) Manali

86. When was the Hj

ght Court of Himachal
Pradesh establisheq 7

(A) 15 April, 1948
(B) 01 November, 1966
(C) 15 August, 1947
(D) 26 January, 1971

¥ of Agricultyrg] Research
Management (NAARM) is log

ated at -
(A) In New Delhj (B) In Hyderabag

(C) In Nagpur (D) In Nainita|

88. What is called the Brain of computer 7
(A) RAM (B) ROM
(C) CPU (D) Mother Boarg

Page- 11
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!

hj

.

13

& H BT T R
89- AN o o= & areo

(©) TR
(D) 375 & B T
90. %?I?fétnaquf AT
(A) G
(B) OGS
(C) T9H
(D) v = uger

T e Rer

1. WRA o FEH T FIT DA D 7
(A) -
(B) STETEY
(OREETE
(D) &8
92. WA TEA-G HT FEd TET AN
e 7
(A) TSI ST
(B) BYEI 3Tl
(C) ST
(D) AN
93, Tpa W H BT =T
fpoe T & 7
(A) aTcHITE
(C) Trfere
94. gﬂ?Tﬁﬁﬁﬁ' F gEY TH TS BHIA-Al
?
A g

(C) gregfey
2019

(B) gerdrerd
(D) HIfeTaTH

(B) <Ih
(D) 911

’ b GETITON
Google Play

A

D

8
9. The colour of leaves is greendueto:

(A) Zinc

(B) Nitrogen

(C) Chlorophyll
(D) None of these

90. Where is Great Himalayan National Park
situated ?

(A) Punjab

(B) Uttarakhand

(C) Assam

(D) Himachal Pradesh

91. Which is the longest tunnel of India ?
(A) Chenani-Nashri
(B) Jawahar
(C) Victory
(D) Leh
92. What is the longest part of human
digestive system ?
(A) Large intestine
(B) Small intestine
(C) Stomach
(D) Rectum

93. Who compbsed the grammar of Sanskrit

Language ?
(A) Valmiki (B) Tulsidas
(C) Panini (D) Kalidas

94. Which planet is the hottest planet of the
solar system ?

(A) Mercury
(C) Jupiter

(B) Venus
(D) Satun
P. 1.
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95. @lF-dl Qawn shia B, o s i )
fopr ot Iman & ?

(A) HEHTAI (B) ey

(©) LI (D) TTES

96. WA &1 @-ar i fafed sy
FHEAr & 7
®) Rawraw (@) @i
©) g (D) faiR

97. g%:-;} %‘h{g:f% 6?1‘{ FH SRy N
A) T (B) A
© L FH (D) oFR

. W F wE AN wa B o
T ¥ 7 \
(A) Fw
(B) Sfe
(C) HHe
D) 9 § P 7

99. U A H R wda @y fg
qAH AT S RO

(A) 916 9 (B) S

(C) U USTIeT (D) SIT@hT
100. a9 S e e 79m@T oAy &7

(A) 22 A= _

(B) 8 AT

(C) 5 S

(D) 14 g%

95.

96.

97.

98.

99,

100.

9

14

Name the creature which is not a bird, t?ut
can fly !

(A) Woodpecker
(C) Ostrich

(B) Owl

(D) Bat

Which place of India is known as "Little
Lhasa' ?

(A) Rewalsar

(C) Dharamshala

(B) Spiti

(D) Kinnaur

'Kufri Jeevan' and 'Kufri Jyoti' are two
famous varieties of :
(A) Tomato

(C) Potato

(B) Almond
(D) Grapes

What is the outermost layer of the teeth
called ?

(A) Enamel
(B) Dentin
(C) Cement -

(D) None of these

What was the Shivalik mountain known
as in ancient texts ?

(A) Mainak Parvat (B) Dhauladhar

(C) Peer Panjal (D) Jaskar

When is the world water day celebrated ?
(A) 22 March

(B) 8 March

(C) 5 June

2019

(D) 14 November
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